000100000 000

oo oo

1. 0000000000
(x,y,270000000000000000 (n6,$)00000000000000000000000O
0000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000
000MO00000 (x,y)O (ne) 0000

x =rcosf y =rsinf

oooooog
2.00D0000000C0CO
Oad00O00O0O0
goobooobooooooooboobo ebboobObOoOoOobObODOObODDbDOODOOObODO
(x,yOOOCQOOOUOOUUUOD X, Y)OUOUOOODOUDODOUOUOOOOO

x=Xcosf—Ysin0O
y=Xsin@+ Ycos6
0000000 2x200000000000000L0000DODODO0OO0ODOOO0ODODOOO
x\ ([ cosf -—sinf X
y ) |\ sin@ cos@ Y
Yy
Y A

01l 000000000oooooooooD (y\yy0DOODOODOODOO X,Y)yYoooood
gogooboobooboo

ObOOOoOoroggenono
goboooboorobO0O0DOOO0bOO0O0O0OOOO0ODOOO0ODOO0meOOOOOOO
bobooboooooooOooOoooOoboOoooOoOoOooOoOoOooOOoOoDbOx,yoooooooad
gobooobebobDOOO0DOODOODOOOOOOODOODOOODODOODOOODOOOO
gooooooogooooooooo00 X,y)yooooooooooooooooDoOODOO

ooooooooogog
x =rcos0 y=rsinf



goooon
X =7icos@—rlsinf y =#sin@ + rHcos 0

X\ [ cosf® —sin6 i
y |\ sin@ cos@ 0

0000 #0 /0000 r000A000000OOOOOOOOO #0 0000 rO00 6
gooboobobooooogoon

goooo

02 00000000 xyOOOOOOOO rne0000O0OO

OcODODODOO rOoO0geoa
X =7icosf—rfsin® y =7#sin6 + rHcos o
godooobodooboooooooo xboooooooooa
¥ =Fcosf—ifsin@ — i0sin@ — rdsin @ — ré? cos 0

goooooooo
i = (F — r6*) cos 0 — (r0 + 2i9) sin O

yOoOoOO0OO0D000O
§ = (¥ = r6*) sin 0 + (rd + 2i9) cos 0

¥\ [ cos® —sinf i = rt?

¥ |\ sin cos@ 70 + 270
O0000000000000 0600000000000 #—r*0000 r0+2/000000
000000000000 00000O0OO0OoO

goboooooo

F,:m(?—réz) Fy = m(r0 + 2i9)
goooooooobooooooooo

Fy = m%% (rzé)

goobboooobbooobobboooobbooobb xiygoobboooobboooo
goooobooooo xb0ybooboboooooboooooboboboboboboo roo
000000000000000000000 #0 40000000000000000000
gooooogoo



3.0000000000000
cooooooobooooobooooooOoooooOoOoOoooOooobooOoooOoOoOoOoOOoOoOobOboOoon
oo0o00o0ooooooOo000opoOooOO0O0O0oOoOooooooOO0o0oDoooDD (nmy,O0OO

ooooo
mx = Fy my = F) mz=F,

o0oo0ooooooon (xy,v,)0OOOOOOOOO0O0O00 (X,,200000
x=wt+X y=wi+Y z2=v;t+Z7Z
O00ooo0oo0o0ooo0o0oooooooooooD (hy,OOODOOOODO0DODOOOOOOO
mX = F, mY:Fy mZ = F,

cooooooobooooobooooooOoooooOoOoOoooOooobooOoooOoOoOoOoOOoOoOobOboOoon
ooooOoooboboooooooooooooboooooooooDo

03 000 (O,xyO00O0O0OD0OODOOOOO0O00 (O,X,Y,20000000000000O
ooo

000000000MO000000000000000000000000000000000O0

000000000000000000000

Da000000000000000000000000000
00000000000 (6y,z2) 0000000000000 (@,a,e,)0000000000
(X,Y,2 0000000000

I, 1 1
xziaxt +v i+ X yziayt2+vyt+Y zziaztz+vzt+Z
oopDooooood
mX +a,) = F, m(Y+ay)=Fy m(Z +a,) =F,
00DoO00o0ooooooooooooooo
mX = F, —ma, my = Fy —ma, mZ = F, — ma,

000000000000 000000000000 (Fy, Fy, F,)0000O0-may, —may, —ma)
obboooobooooooooOoboOoooboboOoOobooOoOoOoOOoOoOoOOoOoobOboOoobooOoa
gobooooooooooooboooobooooboooooooooobooooboboooooog
gobooooboooooooo



04. 000 (O,x,y,2270000000 e00OO0OODOOOODOOO (OL,X,, 20000000
-ma 0000

ObOO0OoOoOooooooooooo
gooobobooobobooooboboboobobooboo0oboooobobobooboboooD
goobooboobbooboobboooboobbooboobboobboobbooboboo
goboobobooobobooobooobobooboobboobboboboobobooboooboboo
000000000 00oo0 X,,200O00oo000 000000000000 0000O

x = Xcoswt — Y sinwt

y = Xsinwt + Y cos wt

goood

=y

6]

-~

05 000 (0,x,yz0000000 (0,X,Y,Z 0000 0000000000

g ooobobobbbbobobbbobobdbdddoooooog
=X -wY)coswt — (¥ + wX)sinwt
y=(X—-wY)sinwt + (Y + wX) coswt

gooodddoogogoooood

i=X - 2wY - wX)coswt — (¥ + 20X — w’Y) sinwt
j = (X - 20Y - w?X)sinwt + (¥ + 2wX — w’Y) cos wt

gogoogoo

¥\ [ coswr —sinwt \[ X-20wY-w?X
j |\ sinwt coswt ¥ +20wX - 0?Y



gobboobooboooboon

m(X — 2wY - a)ZX) =Fyx m(Y +2wX — a)ZY) =Fy

gobobooobooboboobo

mX = Fx + 2mwY + mw?X mY = Fy = 2mwX + mw*Y

gooboobobooooooooooboboboboboobooooooboboboboo
goobooboobbooboooboooboobbooboobboobboobbooboboo
gooobobboooobooooobboodbbb™WoboboboogbLDbbbooobbboboo
gooboobobooooooooooboboboboboobooooooboboboboo
goobooboobbooboooboooboobbooboobboobboobbooboboo

00000000000000000
North South

“’-' 4-N~‘
D6 000000000 D0OO0OODO0OO0OODO0OOO0OOD0OOO0OODODODODOOOOOOOO0n
goooOooooooooo



